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Calculate the area of triangle ABC. 2]
A= —-ab Sin C 42"
2
=14y em”
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The area of triangle DEF is 2050mm?2.
Work out the value of x. (2]
\ in C
= —=—abhsin
2
Question 2
(a) Calculate the area of triangle ABC. )
= - absin C : =
_ 3 ,3r10%8i0 30
L 2
s 20.\ cm
(b) Calculate the length of AC. o 2 l [4]
cos: b +c - %
2bc

2 2 _'x?'
cos 36> 3 ¢ 10
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cos 85 x 140 = 4q + 100 - x?
«? - 3y.3 2= 5.86Ccm




Question 3
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Calculate the area of this triangle.

A=4-absinC
=-'- x22.3 x 23.6 x Sin 26
2 2 (2]
= 130.1cM
Question 4
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P 10cm Q
The area of triangle POR is 38.5cm?. e b'L x c’- - 37-
«wd 0=
Calculate the length QR. -—3;—- R
2 |°2—0~R
A=1-absin ¢ cos 58.5 = %
2(4)('0)

335-—aq*'°‘°'n’p 2
[6]
¢ S8.B K 180 = 9% 105~ GR

: 1
sin P 0 . GR” : 86.950
p . sin (q/o) oR = 9.8¢cm
. 58.8°
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Question 1
, <
In a triangle POR, PO = 8cm and QR = 7cm. ?
The area of this triangle is 17 cm?.
3 R
Calculate the two possible values of angle POR. o [3]

A= 4ab sin C ~
13 = yx8xd A 8N @

: .2
sin © 28

A . 33U
a . 34, 180
3 31."‘ ) |L|2 6
Question 2
2.8cm
0 8.3cm R
(a) Calculate the area of triangle POR. [2]

A- - absin C

L €.
- 2 X '2.8 xz
n.4cm

3 x 8in 9

(b) Triangle POR is enlarged by scale factor 4.5 .
—————

Calculate the area of the enlarged triangle. (2]
- 2
areg = I-H x 45
[
= 23l M
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Triangle ABC is isosceles with AB = AC.
Angle BAC = 110° and the area of the triangle is 85cm?.
Calculate AC. [3]
A= Labsin C
in
85’-1-%9‘*;‘3‘“ °
BS . Lot 0. 61
s 7% - [
2% - 180.9! AC - 13-HCM
Question 4 !
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In triangle ABC, AB = 6¢cm, BC =4cm and angle BCA = 65°.
Calculate
(a) angle CAB, [3]
y___S
sinf 8in 65
sin & . uUx sm 65
A - 66
A- ein” { 4R S\ﬂ )
> 31.7° A :
(b) the area of triangle ABC. 8= |80 - 65 P - 3:'.2 [3]
c .
A.‘-?Kabs"‘ =q1,8
:?&HKGR sin :'18
2L
= I.3cm
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